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Q1 HT fov v RAeeur # ¥ @afdg oreg &1 9T FY

qfiges : AT  dF

Select the related word from the given alternatives:

Transport : Goods :: Banks :

Ans FqI

ik
Rupees

v ol
Money

A=

STel

S
Dollar
qr3s

4.
Pounds

Q.2 f=fefEa & & fred gol, oig & siorer 3R arget § oo ol aegat @
A TG §?

‘Which of the following causes damage to bridges, iron railings and all objects made of
metals?

Ans H&eldr
' Acidity
) 9T
Reduction
v &3 o5l _
Corrosion

9T gler (Rancidity)
4.
Rancidity

Q.3
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458 62 (problem figure) YRULIRIYR| TG UES 280 5G9 (answer figure) A0R Fag
UeIa @7 g¢ 294 @agl

Problem Figure

@] e

Answer Figures
o|2|8|g|
1 2 3 4

Complete the series given in the Problem Figure with an appropriate option from the
Answer Figures.

Problem Figure

| |B] 2]

Answer Figures
i=ll=iioli=)
1 2 3 4

Ans ‘,1. 3
1
3. 4
4.2

Q.4 e 6eoIFicn 6208 Y0 QUR0E QLG ZSTICAIRIARER ¢liEl @991 Q9 9490
sgiala|
An Odometer is an instrument used to measure in automobiles.

Ans 696l
1

speed
Gla
5
odour

; @l
direction
et

4.
distance

Q.5 o eom’ 6208 9@ 2.5 flon 84 1d a2 QI2@ Aerdal F9e TR 2Rd G2l 9RIe
@2l 9990 6949 42060 208 E e I6213e 6o 6956e?

‘Freedom Trail’ is a 2.5 mile long passage that offers a rich insight into the American
Revolution. In which US city would you find this famous and historic trail?

Ans (a2l
i

' Boston

. [Solalal
Denver

| 969qaq
Connecticut

eq1Ed
4
Memphis

Q.6
For More details, visit : www.10pointer.com



<3 665N 9gQ o6 3 YOS FJRIQ 256 g4l 6TIRGIN 6068 GO AgR 4eeel(RRuq
eeree] ) 629

If the kinetic energy of a body becomes 256 times its initial value, then the new linear
momentum will be:

Ans

a

2!

" &)

4.

dIoda ¢aY 986 4a1e

the same as the initial value
dIoda ¢JRia 8 gél

8 times the initial value
dioda gRia 16 gl

16 times the initial value
dioda ¢Jaia 32 gl

32 times the initial value

Q.7 @9201762 Q196 G2l KEYRQ 2 2GR 6x6ralR (44 AR e Jed aem?

‘Who took charge as the new Comptroller and Auditor General (CAG) of India in 2017?

Ans

g

6o 6ol
Vivek Goenka
glom gelia 66416

Achal Kumar Jyothi

QG 67I6LRE

Rajiv Mehrishi
QEe gelIa
Ranjit Kumar

Q.8 1+ qigeIel 2018 6AIFIRIQ Al | FIRYS FrIQ 679 @8 IR 6dIARINg 2o 6291

15t January 2018 was a Monday. Which of the following years will also start on a

Monday?
Ans 1.

2

v

4.

Q.9

2020
2022
2024
2023
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Foea FRIAIRYR QPR U6Y QTSR FoIa GG 0 Aag 64 FURYS Fug 6a¢ Gad
I Qi@ Faa aIead @aldiadRe]

Q@WNY:
ae1g Byl |1eaIg! aadIea A1q 928 AGgd aIgRIRIE an 59 g4
fad:

1. 696FIRG AR Ae 94 6271I5e TRgH FIBIG
2. 6UECIER deISIen dIg @eF ARG AR 79 241

Consider the given statements as true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statement:

All studious students pass in exams. All studious students sleep well.

Conclusions:

1. All who sleep well are studious students.
2. All who pass in exams sleep well.

Ang 6@ae Gad 2 Qa4 AgaIa 28|
Only conclusion 2 follows.
6@GR Gad 1 98y AgaIa 28|

Only conclusion 1 follows.

Gad 196° 2 Q@Y agale 28|

Both 1 and 2 follow.
v e 1 @9 2 67435 Qe agale Q12|

Neither 1 nor 2 follows.

210 57760 @die)m 6298

The square root of 5776 is:
Ans 1. 76
v 2 84
3. 64
4 66

Q.11 G¢Rgo FrIQ 66 CFRIAR g T8¢ Bedl FU6n 69609 8aI@ @585
Which of the following scientists had done some calculations for the fifth state of matter?

Ans . A8 g
CV Raman
cEIFRI]
Homi Bhabha
T¢I AIQUBR
Vikram Sarabhai
A6egRIel 6219

W 4
Satyendra Nath Bose

Q1215 QI8 2020 699 LD 6ED?
What day would it be on 15% March 2020?
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Ans PRl
k Tuesday
" ol
Sunday
(%[N A
2 Monday
. IR
Saturday

-

A3 GIeal 60 QIedl GI0S 6212 | RIQ FIE 6LRG:
Plasma is formed in the stars because of very:
Ans Qg QIaaIg!

low temperature

BT SlUgl
V2
high temperature

¥% <l
high pressure

Q¢ Q19
low pressure

~7 =

Q14 4G eaic @610 Beea 26208 Z @eAlglF, 6669 12 61Q B8RQ - 629

1f§ of the weight of a brick is g kg, then > of the weight of the brick will be:
Ans 5 =
’ @emiglle]
v a0
b
-k
s oF

gﬁem@uq

5
o K8

— Q6rlgliel
ke
2 Femiglel
ke

Q15 2yGe aduia RN JaIel ISR AAIRIF 6RRe?

Which is the first metallic element in the Modern Periodic Table?

Ans Hz
i

H;

Na
2:

Na
oz Li
Li
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He
4.

He

Q.16 96 RQIKIRYTI ARAEA EFIGICIER Foa Cioad! TE(ay 98 )g 2diegel e 008 /g |

99 8e

Problem Figure

V4

v
Options
N AN O
Vi [vin] [0
A B C D

Faagee
Select the option that depicts the following transparent sheet (Problem Figure) when
folded at the dotted line shown.

Problem Figure

i
T

Options

A

> >

U
Ans J 1D

2. C

3 A

4 B
Q.17 6qlIE I 6qg] 661G qUa6a QIfl @esa QElIKIaf, sage dge AIRIQVIQ @ AR

ERHIQIRE, 1210 FI0E 6228

A lemon kept in water in a glass tumbler appears to be bigger than its actual size when
viewed from the sides. This is because of:

Ans ZICRIRD FEAS]
diffraction of light
ZIERIAq gedad
refraction of light
ZIERIFA SISNE JOTFRe
internal reflection of light
ZIERINE JOTRe
reflection of light
Q.18 it a@EQ x? - 4x + k = 0 Q66T (7 6208 x = 3. 2R (@t 6aee:

One of the roots of the equation x> - 4x + k = 0is x = 3. The other root is:
Ans 1.x==—1

v2x=1
. x=4
4 x=—4

Q.19
For More details, visit : www.10pointer.com



Kabaddi

P Q R

s T u

Football Y

Cricket

Kabaddi - @21@
Football - Foom

Cricket - R6a¢'

QRN 60 SIRGIF] AQUIL FEs G2l FOOR 63! 6 I9l ATG UG F6RIT 68w
64i92i7l FISRISITA 671G 4G 6208 I

Kabaddi

P Q R

s T u

Football | ¥

Cricket

According to the given Venn diagram, the total number of students who play cricket as
well as football and also all the 3 games is .

Ans of 1.5+V
2. §
3.Q+V
4.85+Q
Q20 SARGYS QIQ 6QLY6R IR 69C AR OER?

Which of the following compounds has a double bond?

Ans 1 G}G&Q
Ethane
X AT
Acetylene
N aeeIQ

Methane
v @q

" Ethene

Q.21
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FeRIRel 994GEY 964 AR FOI0 @93 1e° Boa0g 64 679 Gad 6AdT AR 1T
FRNQ YR IR

@Y:

JRLLRRIAIS FIAI AGHR AIAGR F64 SYeI ANFIR TRy 9F aIag|

aad:
1. 90QIQ 364 IeaIdy divigl 0Reer IR fee Ie G349l 959
2. J0QI9 2ede geViTia din afeerqiols 92 G010 Fad @Oel gl

Consider the given statements to be true and decide which of the conclusions logically
follow(s) from the statements.

Statements:
There is an increase in the price of essential commodities due to a strike by the
transporters.

Conclusions:
1. Government should buy their own vehicles to transport the essential goods
2. Government should negotiate with transporters to withdraw the strike.

Ans caer fad 1 eay agai Q@8I
Only conclusion 1 follows.

e caee fad 2 @9 agal Q8
Only conclusion 2 follows.

aad 1 99° 2 6Fl6IA0 Qe AgaI QIF]

Neither 1 nor 2 follows.
o0 58 199° 2 @994 2QUIL 0%

Both 1 and 2 follow.

Q.22
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679 560 §IAIR6R 918 IR QI9F:

\ ZAN
==

4 X = s

Choose the correct picture which follows:

Ans 1. A

3 B
4D

Q.23 e 180 feQ @1d 665 54 FERIACS/AG 69960 QIG @6 GIeTriea 2l 621ReT| 564l
Hag 2097 09 CI9 666 FE 6897

‘What is the time taken by a 180 m long train running at 54 km/h to cross a man standing
on a platform?

Ans 10 6964
3.

10 sec
12 64e@sl
v ’
12 sec
11 64e@<}

11 sec
13 64e@ss

13 sec

Q.24 e Gag 6aIgen €8 MIZZLY § 6RSIICIN ZIMYLZ 19° PUZZLE § 6R%I€IN ZUPELZ,
6069 BUZZWORD § 99liQ 621960 @0f enaside?

In a certain code, if MIZZLY is written as ZIMYLZ and PUZZLE is written as ZUPELZ,
then what will BUZZWORD be written as in the same code?

Ans 1. BUZZDROW
2. DROWZZUB
3. ZZUBDROW

For More details, visit : www.10pointer.com



4 WORDBUZZ

Q.25 1999 7 1998

Samsung - 9I€14°G]
Compaq - @¢ll@
Toshiba - 661E@!

HP - 96d

FALRYF! VIS 9 1999 99° 199860 Fhir @91 FIQl TR Fgag edlef]

1998 6 AgJQIE S SRl 7890, AT 1999 62 §F TR 16.5% QFYRI 6569 1999 @dea
6rlig @gel QISICIG 6968 ARl I

1999 1998

The given chart represents the sales of different companies in the year 1999 and 1998.

If the total sales in 1998 was 7890, which increased by 16.5% in 1999,
then the total sales in the year 1999 is approximately .

A 1.9911
v 2 9191
3.9119

4.1919

Q.26 Ge6a RN 686N FRIER 6R6SIT L3l SIRIT6R AR 2ie FISI Lo
qeuay?

563248889266588343
In the below series how many numbers are completely divisible by the number on right?

563248889266588343
Ans 1.4

v25
3.6
4.3

Q.27 Gq) gei6q, 691G+ 2@Q 2gade 2F AI9l ggeiea 52(2)Flal @dIdad | 9a Seageg
AQOPG ANAE 9Le 29 |

E.J,0,T,?

In the following series, one letter is missing as shown by the question mark (?). Select the
missing letter from the given options.

E.J,O,T,?
Ans 7
2. W
vy
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4. X

Q.28 3qqiel 2R OIF CIRCA Y8 AIR @529l 2017 &9 60de I 694 6FRIGTN 6R90
SRR ?

‘Where was the 2017 World Rapid Fire Chess Championship played, in which
Viswanathan Anand regained his title?

Ans ; oI
" Chennai
: B4eml
Oslo
)
3
Dubai
i QY
Riyadh

Q.29 Griciegel 9ee49Eq G010 @ag 1o 80 A0S 6d 679 0F 987 9al

q] flsas @ 9da 22 6aIReN &2

<

o:

1. € 2QFIEAEER O 92986 6TIREINI
2. @, ARCIEAE0 FEREIREE Faea AT 666 6aIEiNI

Read the given question and decide which of the following arguments is/are strong.
Are stock markets sources of wealth creation?

Arguments:

1. Yes, money multiplies in stock markets.
2. No, investments in stock markets are subjected to market risk.

Ans 3
0@ee Ou 2 9@l
v 4

Only argument 2 1s strong.

om 19e° 2 9962 92l
2

Both arguments 1 and 2 are strong.
; o 1 @q 6@ 2 6al6aT 9@ geLl
| Neither argument 1 nor 2 1s strong.
caee 6@ 1 9@l

4.
Only argument 1 1s strong.

Q.30 9@ @EI°d, 6I606R6R ; Q Fealdl @AM, FEAIGTR 249 1—12 16662 QEI°SIE 6298:

2 1 . f .
A fraction, when taken away from - gives — The fraction is:

[

Ans 3
1 —

4

1

28 _

9

5
o
12
\(4,1
4
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Q.31 6gaQ 6alIcN @ 2:39:40 GLIER 2] @6M 99° AR §712:30:34 QISR AT FEMI 6669
PRE 6@66 2rlg adis YR9Rln 6RIRQTERI?

Shrenik switched on a bulb at 2:39:40 hours and switched it off on the same day at
12:30:34 hours. For how long was the bulb in switched-on mode?

Ane 1 9@ 50 F6¢ 54 646@4
9 hours 50 minutes 54 seconds
, 1029109 8¢ 06 696ae
10 hours 09 minutes 06 seconds
, 998109 §18606 cg6ad
9 hours 09 minutes 06 seconds
, 1299140 FI6e 06 696ae

‘ 12 hours 40 minutes 06 seconds

Q32 garqalal 2018 AGAER, @4 CRARQ YU 268
As of February 2018, who is the Chief Minister of Kerala?

Ans QECIR FI8l
|

" Oommen Chandy

dooe feeq
2.

Pinarayi Vijayan
N @99 AQIGIGRR
VS Achuthanandan
, %6 ellegia
AK Antony

Q33 SoRge TrRIQ 6REE Y@ AR LREYRITR?

‘Which of the following is an unsaturated Hydrocarbon?
Ans UEeR
1

. Butane
, cageq

Pentane

6gleds
8

Propane

@gq

v &3
Ethyne

Q.34
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US| 60 FoIa @ag I §0 @0g 64 6% ZGIR/AGIRgER 0a6a 25RE6 BIFI

oa:

Ia GFI06 27186Q, Fell @R @@6m, “AI6 TIZ @ FRICA JRIFE TR AER TR

2gAIe:

1. 4219 2lIFl 9Rg AFIGIg 2RI IR 6aIE gealid dag
2. G0 294 QIRS 64 AR @R AFIGIER AEe GaIE FXl FAIGE 62

Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:

During an election, the opposition party said, “look at the price rise in the last five years™.
Assumptions:

1. This time, give a chance to our party for power.
2. Prices will still rise if you choose the same party to be in power

Ang 6Ren Qe 2 E6 2|
|

| Only assumption 2 is implicit.

6een Qe 1 GE6 2
2

| Only assumption 1 is implicit.
, 199° 2 6al619@ 86 @IF
Neither 1 nor is 2 implicit.
, @9 199° 2 G4e 2@l
Both 1 and 2 are implicit.

Q.35 GoRigo FrIQ 0RR 6wE 2PE S, EHARIF 8 ISRINRINA 95Ieg Thees @RaN?
‘Which component of the blood transports food, CO, and nitrogenous waste?

Ans | 690 Qmexld

WBCs

02 6CEmE
2.
Blood platelets

RlR 0RERIS
3:

RBCs
, ksl

Plasma

v

Q3 GAEQ FeIRe Qa @E?

What is the full form of GST?

Ans EEERRIM 64 QUIg
1

| General Sales Tax
Qlisl 64 QUi
2

| Grand Sales Tax
9eQ 69y cYIg
3

| Goods Sales Tax
v, waue a@ead cuIg
A Good and Services Tax

Q.37
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62160660 9@ GITER AG FINEEEE ©aY AAIN 626 QIR TIFE QIRIFT cNIg FF6 g9
GILIQ QI71 @&l
Name the reddish brown gas evolved when Lead Nitrate is heated strongly.

Ans GIORINETIEER 2AFIRG

D1 Nitrogen Oxide

[T EgIee

Nitric Oxide

FIRECIERR 6U6HFING

Nitrogen pentoxide

i FIRECIEER @R AgIae

Nitrogen di Oxide

Q.38 SoRge FRIQ 699 T8R! CHRIR F68 Y CHRIR §EE?
Which one of the following female athletes is not a squash player?

Ans QIR ZARISANE

Anaka Alankamony

eRleRn @f
V2 2

Koneru Humpy
@1del dReR
Dipika Pallikal
exlgl Gadl
Joshna Chinnappa

Q.39 ggq 36 @q) Faud 6l @g IR RPRIEBG GRIAIN:
Energy possessed by an object by its position or configuration is called:

HOw <l
q_f 1 v
Potential energy

ooe &8

Kinetic energy
26 2
Nuclear energy
6IQIeR 63
Electrical energy

Q.40 9@ 9% ‘UNIVERSAL’Q @d 95160 46ia S2UIAN 96° g6o4a aNag e aiiae a1,
2,3... QIFIQ 46 2gaIa] 2 @AILIN 6669 FR PR F0Q LSRR IR CANTR 629

If the letters in the word ‘UNIVERSAL’ are arranged in the alphabetic order and each
letter in the order is assigned a numerical value of 1, 2, 3... according to their position
from the left, then the sum of the numerical values of the position of the consonants will
be:

Ans 1.32
v 2 31
3,30
4.28

Q.41

For More details, visit : www.10pointer.com



FoRge FrIg 696 e g8 Y1eas gEa Fesaq gew?
Which of the following is NOT a characteristic of dicotyledons plants?

wng € 9AIGGaq 951 699 QFalN
wa These plants have fibrous roots
€ @Ugeea 66T YT 690 QE2IN
These plants have a tap root
€ QUgeaa 99T @198 QFaN
These plants have 2 cotyledons
€ @ugoea SIRgD dial 9Farg

These plants have reticulate venation

Q42 Soage 9g 654N FRIQ GiR 566 18T

NDIOIHIO

1 > 3 4 5

Select the odd figure out of the given series.

A D| O YO

Ans T 3

[}
%)
N
n

% 4
3. 4
s

Q.43 cre 6ASRTA NESTE R°QIFT VCRYIE AI6! GIARIR Zier ! 201762 JRIEE 62IRARI?

Who is the author of the Indian English Novel ‘Sita: Warrior of Mithila® published in
2017?

Ans Gl¥m 6ICLG!

Rahul Mehta
QR €l
Robin Sharma
eI Galo1
Amish Tripathi
6PCR WClQ
Chetan Bhagat

v &)

Q44 20, 28 9@° 48 Q 6.9 ¢ 622"
The HCF of 20, 28 and 48 is:

Ans
For More details, visit : www.10pointer.com



v 4

2.8
3.2
4.1
Q45 o T T 1. 1
Sub
w 70 90 50 85
X 55 | 80 | 95 60
¥ 60 20 90 40
z 90 | 80 | 40 65

QR E5GR S04l 818 W, X, Y, I9° Z GI6QIT @9 P, C, B, 9° M6 €19 @82
agjegeq @d 6a@0 g6 Faasa a9erIe oo 6288 100 |

P 99° C 62 IRI0(671I6' 691159 @6tiaeq) SI0ad SIgwa YIQULIA 9FQ 6a66:

Stu/

Sub P € B ™M
w 70 | 90 [ 50 | 85
X 55 | 80 | 95 | 60
X 60 | 20 | 90 | 40
z 90 [ 80 | 40 | 65

The given table represents the marks obtained by four students W, X, Y and Z in four
subjects P, C, B and M, with the maximum marks in each subject being 100.

The average marks of the four students in P and C together (round to one decimal) is:

1. 69

Ans

2. 68.3
3. 68.2
v 4 68.1

Q.46 6a6oe @F 60T RUIER 60t @3 dRIKIRg | 98 6alicN @8 edQ 2Ig 18 651 AIGeR 9e°

Q¢ allg 5¢1 ARER 28,6669 ALl 9% A

Some books are arranged one above the other. If a book is at 18% position from top and 5%
position from bottom then the total number of books is:

1. 23
2. 21
3. 20
V422

Ans

Q.47 ‘qior GHIERs 986 6UFE 496, 6986 gaQ! dg qAgaa|

‘Car’ is related to ‘Garage’ in the same way as ‘Hen’ is related to

Ans

Q.48

Stable

deaal
| Coop
. 99 4

W 2

| Kennel

QR
'

' Shed

Eullel L

For More details, visit : www.10pointer.com



Q6w QLN TGEQ 6RETIT GRS AET?

Ans 1. 16

2.19
v 318
4.17

Q.49 60l G6ag FHIGER CHRBAIRFR 6AQG TTIQ FRALIRYRAI 641 62Q @ TG
QEIPR(6RITTIG BIF UBILY) 6298 16 19° FlIxl 6208 25 6669 QARG @1 994l
6@66?

In a cricket match, the scores of the players are considered such that coefficient of
variation of scores is 16 and mean is 25.then the variance is:

Ans 1.12
2. 8
V316
4. 4
Q.50 64lI5H QHIGER Glim @R 986 A9S PRQ UGS 620E 4:91 9§ I8 IGER Bl 68 Age
PR 6QIG RAILIN 6969 AR PR 986 996 PR aAUIe 689 1:31 8 QYIGER 6a661E FIR

PR 0EE?

In a bag the ratio of red balls to green balls is 4 : 9. If 6 more green balls were added to the
bag, the ratio of red balls to green balls would become 1 : 3. How many red balls are there
in the bag?

Ans 1.9
v 28
3.12

4.10

Q51 TeQIT Gl 16, 28 19° 42 Q @41 4. 6298:

The LCM of the three numbers 16, 28 and 42 is:
Ans 1. 252
2.168
V'3 336
4. 2
Q.52 10 26°d 969 25°d 81 G668 HICLNIFER YLD 6 gl 52 1 12 9F°d 96a LB
98 AR 54 241 9§ ICAMNIQ G AE°Y SRAIER 1269 AF°A61 16 OF 2 6

@213 6662 64 116¢1 AE°U6Q 6066 620 @R26R|

After 10 innings the average score per innings of a batsman was 52. After 12 innings the
average rose to 54. If the batsman had scored 16 more runs in the 12% innings than in the
previous one, how many runs did he score in the 11% innings?

Ans 1. 854

2. 53
For More details, visit : www.10pointer.com



v 3 56
4. 55§

Q.53 69 aIoeia J506 Seeen agariIdRin 697 2T @ad (AIREd)a erIS RIREa BFIF6

Ans

6TIREER?

‘Which Indian industrialist was recently elected as the Chairman of the International

Chamber of Commerce (ICC)?
¢16@4 eg)iaT
" Mukesh Ambani
, Al dam
Lakshmi Mittal
N AR 2L
Anil Ambani
2 gom fan
Sunil Mittal

Q.54 53¢ 99 @43 64T\ QIFIg B9g 8 A9 6RSIN QIFl @3 16 B960 659 FENINEI 6R68 G4l
48 geId Qe 2 g4 2e 9B AIge eIdig 9eg 12 a9l ersi @IF @8 10 Br6a

Ans

Q.55

Ans

Q.56

Gl6a 296019 2EQ Aflkle di Adyagde FaKIeE] cagEe 97 agaea asIg!

6618 RRARER?
A) Mz _ 30x16x8x2x
xx12x10
B)BOXISXB o M;x12x10
M,D’iax M;,Dzz}i‘Z
O w =W
D)M, = 64

Thirty men can do a piece of work in 16 days working 8 hrs a day. How many men are
needed to complete another work, which is twice the first one, in 10 days working 12 hrs a

day?

The following are the steps involved in solving the above problem. Arrange them in

sequential order.
30x16X8x2
A)M, = =

xxl}}lxw
30x16x8 X12X10
p)2xiexs _ Mpxizxio
MDxH MDzl-i‘
C) e 1= 272712
™A W,

D)M, = 64

1.BACD

2. ABCD

« 3. CBAD
4. ACBD

0° 69EETRER DULER TR 696 62T
The speed of sound in air at 0 °C is:

v 1331 ms™?

2. 331ms
3. 330ms

4.330ms™?

For More details, visit : www.10pointer.com



FIRYS QA AUQ 6 9dS QI8g

O|UJE|T|I
1 2 3 4 5

Select the odd character out of the following series.

O|UJE|T]|I

1 2 3 - D
Ans ‘f 1. 4
2.1
3.3
42
Q.57 Geic19gel 58 G160 FRIAIRED 679 2808 0FF 1852
. ° ™ L]
?
[ ] e |® Ld

Select the option that will fit in the blank space in the given figure series.

[] Y . [
3
[ ] e |® L]
Ans
L]
A
]
N
2.
[
w
3
L]
]
v &3
»

58 Qleaucle @ QIERIGHIY Y FIQI 98 eLIReIN:

Biogas is produced from biomass by:
Ans g8 alee
1

dry distillation
, grdie Aew

fractional distillation

For More details, visit : www.10pointer.com



o5 2RI @ge

anaerobic fermentation
. HelFle dIew

. destructive distillation

Q.59 5

DE6Q 98 Yole 6PQIoe dRaaen q 4ol 2l |

ou

The given symbol stands for a/an in an electric circuit.

Ans i
v DEMAo@ @@

electric bulb
5 YIEC'Q1

battery
ol @1
3

' plug key
, 69689

resistor

Q80 coieas 9 gl GeR QRN

Prostate gland is present below:

Ans [
1. ﬁ: LY
the kidneys
Faaus
2.

the scrotum
QlSliL
Y & L

the urinary bladder
ek
4
the penis

Q.61 66151 AIRA g4 624160 QITY 9T, 651N GIR Q9 1 A4I60 g4 GRAIER | @3 QeI
QQI60 2 FE9 AGGI0 9@ TGS QI QRl, 10 AR 210 ACIGIE 9@ AR QIF
@ml, 0019 AER ILIQ FAGIQ IR AFI°E QI QR @Q&] G LR YRNVE VAN \IQ
QP8 QI AR, 1S KA AQIES I F6Y AAGIO 9@ QR1AIY QOQIQ AVT 62 | @
619 QIR €1al QAR QI QB! OGN B 9@ 121 g8l 6CIEQ QILY B6R 6069 Him
Q49 QRALER q@ QOIES | 90 2P6Q @AY IR FULG @A IR AR AES g4 o]
5 Q9I60 94 621R2I1N, 6A6E6Q6R SERITAIR AIRA IR0 QIKH Q2N | 9T 6615 AAUER
R4 66T AR QI RRR2UN 6962 IR QR AR qfﬁ Q99 696 AFYU6Q SR
QRAIRQ?

A pipe, working at full speed, can fill an empty cistern in 1 hour. However, during the first
hour it worked at one-twelfth of its capacity. during the second hour at one-ninth of its
capacity, during the third hour at one-sixth of its usual capacity, during the fourth hour at
one- fourth of its usual capacity and during the fifth hour it was only one-third as efficient
as it was supposed to be. A second pipe also displayed similar performance, but if it
worked at full speed would have filled the empty cistern in 2 hours. Together with a drain
pipe that drained water out of the tank at a constant rate, the empty cistern could be filled
in 5 hours, all the three pipes working concurrently. How many hours will it take the drain
pipe to empty the filled cistern if no other pipe was functioning during the time?

Ans 1.16
2. 15

For More details, visit : www.10pointer.com
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SMILE

Select the option that depicts the correct mirror image for the given word.

SMILE
Ans 1. PWITE
2. H1IWS
3. ELIMS
v+ HIIM2

28 ge@ GrIeR AGaYe 16Tq 048 K93

Q08, P, 69°0 , ¢l

a b ¢ d
Select the odd figure out of the given figure series.

Tortoise, Crab, Frog, Fish
a b c d
Ans ()
vz
3. ¢
4.3

Q.64 68 @43 665N FRE 1,500 6°ql 6Q Falem I9° ILIQ 12% RINER 86 F6R| 6669 698
FR9Q P JRY 62667

A person bought an item for ¥1,500 and sold it at a profit of 12%. What was the selling
price of the item?

Ans 1,662 @l
71,662
1,680 o @l
W 2
31,680
1,620 o°@l

3.
71,620
1,800 ¢°@

4.
31,800

Q.65 ‘gdl orFee fedam @4 AI2IF IR6aE 2CAUTS KRR AT @RA asl 94 AIRIRcER
QAL QLRI Q61 SIFR Q1A &P

Who is the director of the film ‘Poorna’, which depicts the story of Poorna Malavath, the
youngest girl to climb Mount Everest?

Ans

For More details, visit : www.10pointer.com
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Anurag Kashyap
2R SIS

Ayan Mukherjee
Qlgm 6x1d

Rahul Bose
60le7] RIYERT 6716Q

Gautham Vasudeva Menon

" &)

Q.66 gea g4g g F01a @ag 1e° 39 @eg 8¢ Age 608 ¥89Y 9@ 94 0 299 6071 9 AR

6RI689LI6R FIRINGE A @8l @87

eai:

1. Q89 9Ff 986 gIRIRCa Q& AR
2. JINIRCQ QFf UGS K@ |

Consider the given question and decide which of the following statements is sufficient to
answer the question.

What is the colour of the granite in the kitchen?

Statements:
1. The colour of the granite is the colour of the wall.
2. The colour of the granite is very bright.

Ans il
a1 F62d 6RIRAN BLIEEERER @ 6R9R 2 @E'JIQIQEJ‘G‘I g @ae 69 ligl eeia
Q651
1 alone is sufficient while 2 alone is not sufficient to answer the given question.
2.
CAYR 2 J62E 62PN 6L606PER @ 6a9R 1 6@]9]@2{@] g L@ a9l qIg ge2e
Q6% 1
2 alone is sufficient while 1 alone is not sufficient to answer the given question.
W 3
caee 189l 2 TR J4Q 289 6o T F62IE Q6% |
Neither 1 nor 2 is sufficient to answer the given question.

4.
@il 199° 2 @alﬁlﬂaﬁ?l d9e e 69l Jdeald|

Both 1 and 2 are sufficient to answer the given question.

Q.67 94l FI2IR 09Q I6% ERINES ALICHEQ 621 AINRER, T 621865 FRIAN:
The embryo gets nutrition from the mother’s blood with the help of a special tissue called:

Ans @RI
1.
Cervix

7 Glefm
Placenta

olalls
3

Uterus
@geIeal
4.
Fallopian tube

Q.68
For More details, visit : www.10pointer.com
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When was India's capital shifted from Calcutta to Delhi?
Ans g 1912

W 2 1911
3.1910
4 1905

Q.69 calIEh Qsae da aBieed 20 Rg/6d6ad 69660 a5Y 2gRT NIPER 6808 @Al | 35
69604 €G] @091 T6Q T Q8ETER §F VYR $419¢° A8% 6ICld $8R crInK | Gigl
FI6Q A69% e 9 9912 aF 66 aeal gl 9§ eseiea aegal:

A rocket is launched to travel vertically upward with a constant velocity of 20 m/s. After
travelling for 35 seconds, the rocket develops a snag and its fuel supply is cut off. The
rocket then travels like a free body. The height achieved by it is:

Ans . 800 dica
800 m
-, 700 §icQ
700 m
2 720 diea
720 m
, 680 dieQ
680 m

Q70 cqlIGhT A°GUIQ 30% 622G 33| 606D AT 6R6E7?

30% of a number is 33. What is the number?
Ans o 1.110
2.105
3.120
4 115

Q.71 6a9 agld QUIBETRIRT *E26R 60 2UIRIAGERR gUITR 62ef cagien 2IEe gan
Goade owar ¢ ed1 gIdy?

Name the Russian chemist who stated that the properties of elements are a periodic
function of their atomic masses?

Ans erliegmle
W

Mendeleev
. faaallralaalm

Markovnikov

GRGEAR
8

| Zaitsev
, CORADM
' Zelinsky

Q.72 calit\ QIgieq a1d 694 936 6alITN GIgeq I 604 220 6qISl AEF 60° 4e° GIgea
19 694IQ AIZIGR TP 6R81Q 288 6xI¢l 988 30°00 Gt AF6l 5076, AITIER REE!
6@667
The angle of elevation of the top of a hill at the foot of the tower is 60° and the angle of
elevation of the top of the tower from the foot of the hill is 30°. If the tower is 50m high,
what is the height of the hill?

Ans =i
v 150 ¢1E'Q
150m

For More details, visit : www.10pointer.com



, 120 deQ
120m

, 100 dea
100m

, 180 &eQ
180m

Q.73 21364 Ca1mIea 78% a9e 2gad | 67l 663 A7a AI9as, aaiia gd 4°H 6667

Adithya got 78% marks in the examination. If he secured 663 marks, find the maximum
marks.

Ans 1. 800
2. 700

3. 750

v 4 850

A7 QANYE C1IQ 6% QeI 6KIGIR AW Q6L
Which of the following numbers is not composite?
Ans  of 1109
2.161
3.203
4.209

Q.15 Sales of Bikes in India as per the Colour in

2009

5%

3%
20%

15%

2% 10% 10%
10% % 7%
5%
N « 11

Blue Green Golden Brown Black silver White Red Yellow

Q@ GIF1 2GRN, 666 Qe JFRR ARG 55% &7Iic @7 627

Sales of Bikes in India as per the Colourin
2009

0%

5%
20%

15%

1% 10% 10%
10% 8% %

5%

Pl zal [
i x

Blue Green Golden Brown Black silver White Red Yellow

Based on the given data, determine the bikes of which colours will make a total sales of
55%?

Ans 9%, 9, 719 9e° QIR

Green, silver, blue and red
QIQIT, @91, A1 9° geam
Brown, black, blue and golden
QR 49T, 6R, @Rl 99° QIR
Blue, green, gold, black and red
QIIT, @R, FI6 99° geaR
Brown, black, red and golden

For More details, visit : www.10pointer.com
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